

Table 6. Bed Utilization by Facility, 2013

Facility Type of Beds	Licensed Beds	Inpatient Days	Admiss- ions	ALOS	Occup %	ADC
15 Craigside						
SNF/ICF	41	10,882	74	147.1	72.72	29.8
Aloha House, Inc.						
Other: STF	48	9,975	326	30.6	56.93	27.3
Aloha Nursing & Rehab Centre						
SNF/ICF	141	44,748	398	112.4	86.95	122.6
Ann Pearl Nursing Facility						
SNF/ICF	104	35,044	391	89.6	92.32	96.0
Arcadia Retirement Residence						
SNF/ICF	91	26,415	70	377.4	79.53	72.4
Avalon Care Center – Honolulu						
SNF/ICF	108	37,486	321	116.8	95.09	102.7
Bobby Benson Center						
Other: STF	28	7,433	26	285.9	72.73	20.4
Care Center of Honolulu						
SNF/ICF	182	61,435	318	193.2	92.48	168.3
Castle Medical Center						
Medical/Surgical	111	22,191	4,615	4.8	54.77	60.8
Critical Care	8	1,899	462	4.1	65.03	5.2
Obstetric	12	2,617	1,173	2.2	59.75	7.2
Psychiatric (Psych)	29	7,363	1,238	5.9	69.56	20.2
Crawford's Convalescent Home						
Intermediate Care (ICF)	55	2,561	0		12.76	7.0

Table 6. Bed Utilization by Facility, 2013

Facility Type of Beds	Licensed Beds	Inpatient Days	Admiss- ions	ALOS	Occup %	ADC
Garden Isle Rehabilitation & Healthcare Center						
SNF/ICF	110	36,537	313	116.7	91.00	100.1
Habilitat, Inc.						
Other: STF	150	38,690	111	348.6	70.67	106.0
Hale Anuenue Restorative Care Center						
SNF/ICF	120	41,921	167	251.0	95.71	114.9
Hale Ho Aloha						
SNF/ICF	59	17,803	117	152.2	82.67	48.8
Hale Ho'ola Hamakua						
Acute/SNF	11	1,768	76	23.3	44.03	4.8
SNF/ICF	66	21,196	49	432.6	87.99	58.1
Hale Kupuna Heritage Home						
SNF/ICF	84	27,506	111	247.8	89.71	75.4
Hale Makua – Kahului						
SNF/ICF	254	86,301	398	216.8	93.09	236.4
Hale Makua – Wailuku						
SNF/ICF	90	29,435	81	363.4	89.60	80.6
Hale Malamalama						
SNF/ICF	40	14,429	45	320.6	98.83	39.5
Hale Mohalu Hospital						
Hansen's Disease	14	2,397	82	29.2	46.91	6.6
Hale Nani Rehabilitation & Nursing Center						
SNF/ICF	288	99,029	778	127.3	94.21	271.3

Table 6. Bed Utilization by Facility, 2013

Facility Type of Beds	Licensed Beds	Inpatient Days	Admiss- ions	ALOS	Occup %	ADC
Hale Ola Kino (The Health Center at One Kalakaua Avenue)						
SNF/ICF	32	11,061	161	68.7	94.70	30.3
Harry and Jeanette Weinberg Care Center at Pohai Nani						
SNF/ICF	44	15,246	125	122.0	94.93	41.8
Hawaii State Hospital						
Psychiatric (Spec.)	202	69,363	333	208.3	94.08	190.0
Hilo Medical Center						
Medical/Surgical	83	28,498	4,337	6.6	94.07	78.1
Critical Care	11	3,396	1,177	2.9	84.58	9.3
Obstetric	20	2,523	1,296	1.9	34.56	6.9
Pediatric	8	386	179	2.2	13.22	1.1
Psychiatric (Psych)	20	2,742	566	4.8	37.56	7.5
Skilled Nursing (SNF)	52	9,117	366	24.9	48.03	25.0
Intermediate Care (ICF)	82	28,683	33	869.2	95.83	78.6
Hina Mauka						
Other: STF	48	17,212	378	45.5	98.24	47.2
Hi'olani Care Center at Kahala Nui						
SNF/ICF	60	20,542	76	270.3	93.80	56.3
Ho'omau Ke Ola						
Other: STF	16	5,438	97	56.1	93.12	14.9
Island Nursing Home						
SNF/ICF	42	14,475	23	629.3	94.42	39.7
Kahi Mohala Behavioral Health						
Psychiatric (Spec.)	88	27,808	1,164	23.9	86.58	76.2

Table 6. Bed Utilization by Facility, 2013

Facility Type of Beds	Licensed Beds	Inpatient Days	Admiss- ions	ALOS	Occup %	ADC
Kaiser Permanente Moanalua Medical Center						
Medical/Surgical	202	46,594	9,041	5.2	63.20	127.7
Critical Care	21	4,577	467	9.8	59.71	12.5
Obstetric	24	3,366	1,208	2.8	38.42	9.2
Pediatric	20	1,477	250	5.9	20.23	4.0
Neonatal ICU	18	4,337	329	13.2	66.01	11.9
Skilled Nursing (SNF)	28	6,140	337	18.2	60.08	16.8
Kalaupapa Care Home						
Hansen's Disease	5	168	14	12.0	9.21	0.5
Kapiolani Medical Center for Women and Children						
Medical/Surgical	36	2,153	727	3.0	16.39	5.9
Critical Care	19	2,174	264	8.2	31.35	6.0
Obstetric	58	18,944	6,505	2.9	89.49	51.9
Pediatric	60	39,977	9,335	4.3	182.54	109.5
Neonatal ICU	24	8,769	436	20.1	100.10	24.0
Ka'u Hospital						
Acute/SNF	5	15	5	3.0	0.82	0.0
SNF/ICF	16	4,629	7	661.3	79.26	12.7
Kauai Care Center						
SNF/ICF	53	15,466	24	644.4	79.95	42.4
Kohala Hospital						
Acute/SNF	4	98	6	16.3	6.71	0.3
SNF/ICF	24	7,141	21	340.0	81.52	19.6

Table 6. Bed Utilization by Facility, 2013

Facility Type of Beds	Licensed Beds	Inpatient Days	Admiss- ions	ALOS	Occup %	ADC
Kona Community Hospital						
Medical/Surgical	49	9,915	2,249	4.4	55.44	27.2
Critical Care	9	1,334	252	5.3	40.61	3.7
Obstetric	7	1,239	595	2.1	48.49	3.4
Psychiatric (Psych)	11	2,179	282	7.7	54.27	6.0
Skilled Nursing (SNF)	18	3,256	206	15.8	49.56	8.9
Kuakini Medical Center & Geriatric Care, Inc						
Medical/Surgical	188	32,113	5,476	5.9	46.80	88.0
Critical Care	24	3,561	54	65.9	40.65	9.8
Skilled Nursing (SNF)	40	9,606	286	33.6	65.79	26.3
Intermediate Care (ICF)	150	51,470	184	279.7	94.01	141.0
Kula Hospital						
Acute/SNF	5	1,193	39	30.6	65.37	3.3
SNF/ICF	100	25,435	62	410.2	69.68	69.7
SNF/ICF MR	9	2,882	1	2,882.0	87.73	7.9
Kulana Malama						
SNF/ICF	30	10,115	29	348.8	92.37	27.7
Life Care Center of Hilo						
SNF/ICF	252	86,554	250	346.2	94.10	237.1
Life Care Center of Kona						
SNF/ICF	94	30,930	151	204.8	90.15	84.7
Liliha Healthcare Center						
SNF/ICF	92	32,811	205	160.1	97.71	89.9

Table 6. Bed Utilization by Facility, 2013

Facility Type of Beds	Licensed Beds	Inpatient Days	Admiss- ions	ALOS	Occup %	ADC
Maluhia Hospital						
SNF/ICF	158	55,638	159	349.9	96.48	152.4
Manoa Cottage Kaimuki						
Skilled Nursing (SNF)	27	8,794	48	183.2	89.23	24.1
Maui Memorial Medical Center						
Medical/Surgical	152	42,100	9,398	4.5	75.88	115.3
Critical Care	29	5,175	2,063	2.5	48.89	14.2
Obstetric	22	2,931	1,721	1.7	36.50	8.0
Psychiatric (Psych)	18	3,624	683	5.3	55.16	9.9
Maunalani Nursing and Rehabilitation Center						
SNF/ICF	100	35,309	326	108.3	96.74	96.7
Molokai General Hospital						
Medical/Surgical	9	328	86	3.8	9.98	0.9
Obstetric	2	21	22	1.0	2.88	0.1
Acute/SNF	2	244	10	24.4	33.42	0.7
SNF/ICF	2	87	0		11.92	0.2
North Hawaii Community Hospital						
Medical/Surgical	24	3,909	1,063	3.7	44.62	10.7
Critical Care	4	845	88	9.6	57.88	2.3
Obstetric	5	1,098	536	2.0	60.16	3.0
Nuuanu Hale						
SNF/ICF	75	27,030	145	186.4	98.74	74.1
Oahu Care Facility						
SNF/ICF	82	28,134	166	169.5	94.00	77.1

Table 6. Bed Utilization by Facility, 2013

Facility Type of Beds	Licensed Beds	Inpatient Days	Admiss- ions	ALOS	Occup %	ADC
Pali Momi Medical Center						
Medical/Surgical	120	41,505	6,159	6.7	94.76	113.7
Critical Care	8	3,801	478	8.0	130.17	10.4
Palolo Chinese Home						
SNF/ICF	61	21,704	201	108.0	97.48	59.5
Pearl City Nursing Home						
SNF/ICF	122	41,327	208	198.7	92.81	113.2
Po'ailani, Inc						
Other: STF	32	11,059	563	19.6	94.68	30.3
Pu'uwai 'O Makaha						
SNF/ICF	93	29,088	295	98.6	85.69	79.7
Rehabilitation Hospital of the Pacific						
Rehabilitation	66	19,128	1,522	12.6	79.40	52.4
Samuel Mahelona Memorial Hospital						
Medical/Surgical	5	23	6	3.8	1.26	0.1
Psychiatric (Psych)	9	1,595	178	9.0	48.55	4.4
SNF/ICF	66	18,546	45	412.1	76.99	50.8
Shriners Hospitals for Children – Honolulu						
Children's Orthopedic	24	1,393	221	6.3	15.90	3.8
Straub Clinic & Hospital						
Medical/Surgical	140	38,068	6,087	6.3	74.50	104.3
Critical Care	19	4,905	1,229	4.0	70.73	13.4
The Maui Farm, Inc.						
Other: STF	6	37	0		1.69	0.1

Table 6. Bed Utilization by Facility, 2013

Facility Type of Beds	Licensed Beds	Inpatient Days	Admiss- ions	ALOS	Occup %	ADC
The Queen's Medical Center						
Medical/Surgical	369	113,068	17,543	6.4	83.95	309.8
Critical Care	48	12,179	2,502	4.9	69.51	33.4
Obstetric	25	5,785	2,340	2.5	63.40	15.8
Psychiatric (Psych)	63	13,357	1,711	7.8	58.09	36.6
Skilled Nursing (SNF)	28	9,616	633	15.2	94.09	26.3
The Salvation Army Addition Treatment Services						
Other: STF	66	19,353	962	20.1	80.34	53.0
Wahiawa General Hospital						
Medical/Surgical	51	10,678	2,498	4.3	57.36	29.3
Critical Care	6	1,356	209	6.5	61.92	3.7
Psychiatric (Psych)	10	2,619	76	34.5	71.75	7.2
SNF/ICF	93	32,232	182	177.1	94.95	88.3
West Kauai Medical Center/KVMH						
Medical/Surgical	9	1,616	435	3.7	49.19	4.4
Critical Care	2	396	144	2.8	54.25	1.1
Obstetric	4	587	239	2.5	40.21	1.6
Acute/SNF	10	1,388	164	8.5	38.03	3.8
SNF/ICF	20	7,226	31	233.1	98.99	19.8
Wilcox Memorial Hospital						
Medical/Surgical	60	13,536	2,937	4.6	61.81	37.1
Critical Care	7	1,492	443	3.4	58.40	4.1
Obstetric	5	1,237	520	2.4	67.78	3.4

Table 6. Bed Utilization by Facility, 2013

Facility Type of Beds	Licensed Beds	Inpatient Days	Admiss- ions	ALOS	Occup %	ADC
Yukio Okutsu State Veterans Home – Hilo						
SNF/ICF	95	31,136	118	263.9	89.79	85.3

Note:

(1) A blank cell () indicates data not available.

(2) The following facilities did not reported in time for this publication: Ka Punawai Ola, Kahuku Medical Center, Lanai Community Hospital, and Leahi Hospital. Therefore, they are not listed in the table above.